Furnace Air Intake To Be Heated

tdb =70 F

RH=35%

W =0.0054077 1b w.v./Ib d.a.
ACFM = 1250

SCFM = 1244.0472

Dry Air=5568.1017 1b d.a./hr

Water Vapor = 30.1109 Ib w.v./hr

Total =5598.2126 1b/hr
Qsensible = 50,759.21 Btu/hr

Heated Air Leaving The Furnace

tab=129.2619 F

RH=5.8153 %

W =0.0054077 Ib w.v./Ib d.a.
ACFM = 1389.8557

SCFM = 1244.0472

Dry Air =5568.1017 1b d.a./hr
Water Vapor =30.1109 1b w.v./hr
Total = 5598.2126 1b/hr

- Qsensible = 130,000.27 Btu/hr

W =0.0054077 1b w.v./Ib d.a.
ACFM = 17.8468

SCFM = 17.7618

Dry Air = 79.4983 Ib d.a/hr
Water Vapor = 0.4299 1b w.v./hr
Total = 79.9282 Ib/hr

Qsensible = 724.71 Btu/hr

Qiatent = 469.60 Btu/hr

Qual = 1,194.31 Btw/hr

10 % Excess Air

Quatent = 32,891.05 Btu/hr Quatent = 33,650.06 Btw/hr
Qoul = 83,650.26 Btw/hr Quoal = 163,650.33 Btu/hr
t - NS |
Y
‘Natural Gas
Heat
; g | Induced Draft Furnace i
100,000 Bowhr ~_, Natural Gas | e
4.4036 Ib/hr Input Input: 101,194.31 Btu/hr Removed
' - 84.3318 Ibs/hr
g | Flame Teniperature =3200.69 F
Efficiency = Total Heat Qutput x 100 .
4 Total Energy Input r
-«
= 80,000 Btu/hr x 100
* (100,000 + 1194.31 )Btu/hr
' . ' Flue Gas Discharge
=79.06 % ﬂ tdb =497.3020 F

- ' W =0.1296687 1b w.v./Ib dry gas
Combustion Air Intake CO2=11.7888 1b/hr
tib=70F N2 =61.0971 Ib/hr
RH=35% 02 =1.6725 Ib/hr

SO2 =0.0001 Ib/hr
SO3 = 0.0000 Ib/hr

Argon =

0.0934 1b/hr

Dry Gas =74.6518 Ib/hr
Water Vapor = 9.6800 Ib/hr
Wet Flue Gas = 84.3318 Ib/hr

Acid Dew Point Temperature = 178.9587 F

Dry Gas Heat =

8747.58 Btu/hr

Water Vapor Heat = 12,446.73 Btu/hr

Total Heat =

21,194.31 Btu/hr



